Recall . ..  
· the period of a sine or cosine function is  


 and the period of a



tangent function is  


.
·  The amplitude of a tangent function  







· Tangent functions have  



  





· A tangent function that has not been stretched or phase-shifted has vertical asymptotes at  
Complete the Table

	
	Amplitude
	Period 

in Radians
	Range 
	domain
	x-intercepts
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Given the following characteristics, write the equations.

a) A sine function that has had a phase shift of 
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p

-

 a period of 
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p

 and an amplitude of  5.

b) A tangent function whose period is 120(, has a phase shift of 0( and reflected in the x-axis.

c) A tangent function whose been vertically stretched by a factor of 3, has a period of 8 and phase shift of 
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